AA10 Answers to Selected Exercises

52. {-243,32}  53. {% 1} 5. {1} 55 {212} 56.{-12,-1} S7.{-3,-1,2,4} 58 {-2,-1,3,4} 59 {-8 =p 1,4}

60. {-10,-2,1,5} 6L {-8,8} 62 {~6,6} 63.{-59} 64 {-6,4} 65 {-2,3} 66 {47} 6. {—%,3} 68. {
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69. { = 5} 70. { = 3} 71. { 5,4} " {3,3} B.O 4T T {2} 76. {3} TL {13 % {3,10}
M.2c 80.5a 8LLe 8 -1 and:b 83 2and%f 84 ~Sand —%;d 8. ~2ands 86, ~Lands g7, 4
88. 6 89. -2, — 5> and 2 90. —4, —1,and 1 91. 0 92 30 93. —2,0,and 2 94. -9 and% 95. {—8,—6,4,6} 96. {-7,
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O {7 —1.6} 98.{-5,2.7} . 99. 8 00. 7= 0L V.= —3or3mr h 102. A=47r* 103. —16and 12 104. -3, —1, ang
105. 54t 106. 29ft  107. (54,116)  108. (29,0.85)  109. 36 years after 1975,0rin2011 110 49 years after 1975, or in 2024
111. a. (36,50.6) b. 51% and 52% are reasonable estimates. 112. a. (49,53.2) b. 53% and 54% are reasonable estimates.
113. 149 million km 114. 58 million km 115. either 1.2 feet or 7.5 feet from the base of the 6-foot pole
116. a. V> +36+ V(12— x)? +9  b. The distance represented by x should be 8 miles. ~ 124. {-3,-1,1}  125. {0,2}  126. {2
127. does not make sense 128. makes sense 129. does not make sense 130. makes sense 131. false 132. false 133. false
134. false  135. {%} 136. {% %} 137. {81}  138. {0,1}  139.yes 140. {-3} 141 {14}
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Exercise Set 1.7
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Answers to Selected Exercises AA11

. [6,00) 40. [2, 0) 41. [~10, o0) 42. [-2, )
: = . = 5. 3 B 2
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s51. (3,5) 52.(2,6) 53.[-1,3) 54.(-2,5] 55.(-5,-2] 56. B%) 57. [3,6) 58.[-4,2) 59. (=3,3)
60: (-5,5) 6L [-1,3] 62[-7,1] 63 (-1,7) 64 (—%4) 65. [-5,3]  66. [—13—9.7] 67. (—6,0)  68. (=7,9)

69. (—oo, —3) or (3, c0) 70. (—o0, —5) or (5, 00) 7L (o0, —1]or[3; 00) - 72 (=00, —T]0E [Lo0) 73, (—oo, %) or (5, c0)
74. <—oo, —%) or (3, 00) 75.5(=00,—5] or.[3:060) 76. (—o0, —2] or [4, c0) 77. (—o0, —3)0r (12, 00) 78. (—o0, —8) or (16, o)

7. (00, —1]or[3,00)  80. (—oofl—qu{l > 8. [2,6] 82 [-16,2] 8. (=o0, -3)U(5,00) 84, (~00,2)U(8, o)

10]°1100%
B U 86 (co, —4}uB,oo) 87. (-1,9) 88.(9,13)  89. (—oo,% U1, c0) - 98, (=0, ~2)U(6, c0)
oL, <—oo,—Z—j>U(—18—z~,oo> 92. (—p0;60)  93. (=0, =6 or[24,00) © 9E{0,8] - 95 (—06.23] _ 96 (=00, ~3)
B(6,00) 9% (~0,1] 9. (—313—0> 100. <—oo, —%)U<12—3,oo> 101. (—c0, —10]U[2,00)  102. {—1, —%J
J

103. (-1,9) 104 (—o0, -1]U[9,00)  105. [-1,2)  106. (1,4]  107. (—oo. —ﬂu[aoo) 108. [—2,%} 109. (0,4)

110. [0, 5] 111. intimacy = passion or passion < intimacy ~ 112. commitment = intimacy or intimacy < commitment
113. commitment > passion or passion < commitment 114. commitment > passion or passion < commitment 115. 9; after 3 years

116. after approximately 5% years 117. voting years after 2006 118. voting years after 2004 119. between 80 and 110 minutes, inclusive

120. [S°F,95°F] 121 h=4lorh=59  122. 50 + 0.20x < 20 + 0.50x;more than 100mi ~ 123. 15 + 0.08x < 3 + 0.12x; more than 300 min
124. 1800 + 0.03x < 200 + 0.08x; greater than $32,000 125. 2 + 0.08x < 8 + 0.05x; 199 checks or less 126. 2x > 10,000 + 0.40x;
more than 6250 tapes 127. 5.50x > 3000 + 3x; more than 1200 packages 128. 265 + 65x =< 2800; at most 39 bags

86+ 88 + 92 + 84 + x + 86 + 88 +
129. 245 + 95x < 3000;at most 29 bags 130 > 5 T > 90atleast95% 131 a. —6% = 90; at least a 96
86 + 88 + x

< 80; a grade less than 66 132. 1.5 to 3.5 hours, inclusive 133. more than 3 and less than 15 crossings per three-month period
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{x|x < 4} or (-0, 4) {x|x < =3} or (—o0, =3)

45. a. C=4+ 0.10x;C =2 + 0.15x 146. makes sense 147. makes sense
b. 1 148. makes sense 149. makes sense
150. true 151. false

=
152. false 153. true
154. Because x > y, y — x represents a negative number, so when both sides are multiplied by (y — x),

/ the inequality must be reversed.
2 = 155. a. [x— 4| <3 b. [x—4|=3
0 157, set: 1
¢. 41 or more checks
d. {x|x > 40} or (40, )

158. y 159543 b. —3and3 c. all real numbers d. all real numbers greater than or equal to 1
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